B R T i

1 pg 1 11 " Y e—) R 1
Laka =[1 ¢ r|3RA =|g 4. gt A =[m n], Bl ] 1 _ P4 115 4. Consider the following in respect of
p IfAy=Il ¢ r|anda, =
1r p rpg Ol&:@%dﬂﬁﬂ?ﬂ%ﬂ iy 25|19 r p the matrices :
o - rp -
ﬂl@q_.pﬁﬂﬂﬂﬁ.y.b_.fbnw 3 . wh . d A= B=[- ISHNSQQ" gL
8 AR : eIC p#q+#r, then A+ A, is [m n], [-n -m
@ 0 1. C4=CB @ 0 1. cA=ca
(b) TR YATHR 2. AC=BC . (b) always positive . m. AC=BC
?N TAAT TS 3. C(A+B)=CA+CB (c) always negative u. C(A+B)=CA+CB
(@ 3R p, g, r TTHE T A TR St ¥ @ FH-a1/FN-¥ T T v (d) positive if p, g, r are positive else ) i
23 0 . negative . * Which of the above statements is/are
ERRINEVIRED [ , correct ?
2. ﬁm Ahlvxvlhxnlﬁv =2 ww.h (a) wmmm_ 1 4/N. :.AEIEVA@IGXQIQV =2 and abc = 6, (@) 1 only
N ) Fa2 : 3 then what is the value of . (b) 2 only
abc=6 % A a2 B 2| W W © 233 €, bt.g (© 2and3
@ B3 @ 13k 2 / |9, 52l
: _ 2 B3 (d 1and2
;e ? , ‘ ;
LE A ! 2sin@ cosf@ O : (@ 3 .
va 3 ) § . v 2sinf cos@ O
S. =|- i % .
e | R 4 anmm E_.m ﬁ_v g @ 12 5.1f A=|—2cos@ sin6 O], then
- 3 : ' 1.1
© 14 : , i () 14
el . A(adjd) fras s & 7 , E fi' s i what is A(adjd) equal to ?
(@ YT I 3 ; : : (@) Null matrix
3. Freffes § @ for wiest & s ®) -1 . 3. Under which of the following condi- ® -I
: g © I . 'R tions does the determinant
a c & ) I
4 @ 21 . a.bec § L
AR |5 ¢ a| Y BT R 7 : i ‘ " |b ¢ a| vanish? CUR
cab ) STel 1 Us doads AR © | B ‘
. i g M. cab where I is the identity matrix.
l.a+b+c=0 ¥ fra i :
. A % g : = .
2. B+ B+ = 3abe 6 \n. .m.qﬂ o LLatb+c=0 6. For what value of k is the matrix
: 2cos26  2cos20 6 = I 2. d3+bh+3= : x
3.2+ +c2—ab-bc—ca=0 1—2sin%0 2cos?6-1 3 i ¢ & 3abe NnOmmw Noowwm 9
. &7 3.8+ +c—ab-bc—ca=0 1-2sin"0 2cos"0—-1 3
T T Y T W WM W w6 IR k 2k 1 _ e B ] |
) , " ; : Select the correct answer using the
m_:_u. : , Ewmﬂﬂdwﬂ ? 7 &l code given below : singular ?
(@) Fa« 1 3R 2 (@) ¥ 0 (2) 1 and 2 only .. (@ Oonly
(b) Fad2 3R 3 () Faa 1 (b) 2 and 3 only (®) 1 only
(c) *aa 13R3- (c) ¥a< 2 (c). 1 and 3 only 5d* (c) 2 only
(@ 1,23R3 ; @ R st aafis 7w @ 1,2and3 (d) Any real value

SDFR-S-HTM-A a2 -3 . A -'SDFR-S-HTM




7.9 T A TH G ey
Rk B=adia ¥ Trffem & ¥

Fra-ar/#A-2 T qE R/ ?

1. AB = BA

2. AB UF Iy SegE R

3. AB TF YA g T gl ®
A Ru Y F& 1 FEN R HE IW
gfg :

(a) wad

(b) Fa1 3R 2

(c) ¥a« 2

@ 1,23R3

8. @A HfE F it ARl 4 IR B &
day § Frafifea w9 ® fER
#ifg :

1. afs AB TF Y ITE B, WA #R
BH A TH--59 o W [
AR ©

2. aft AB ©F qoEEE AR §, A
BA=AB%

I # § FH-A1/FT-] T wQ
g/8 7

(@ Had1

(b) e 2

(c) 13R23E!

d AAXL,AR2

9.afs 4, Ffe 3 = TH TEAF AR
g 3R B T uiad ® @ ameg
C=A+B % Wris & 7\ T & ?
@ 1
®) 2
() 4
@ 8

SDFR-S-HTM - A

1 5 93
3 | TR =4
m@ﬂ%_wx__uumuw_ frff % R |

%-ﬂ\%;@%ﬁ%W\ww .

1. A%=4 4

2. AB*=A4%B .

A3 R g g F N R T IR

MWB"

() Fa«
- (b) a2

CRELYAkL

(@ TN 1,982 . 3

. (192)(1-2) w e F B
@ 9 e
(b) 10
(© 19

@ 20 - e
12. (x + )10 F wOR & d@aw & frafafaa ! .

Tl W) fer Aifvg i
1. G % el ot ¥ A 67w F
Ui W W e §

2. deR g H I, 9° 9g F oI
F TR B ;

S # A -1/ HA T

/€7

(a) Fael 1

(b) a9 2

(¢ 13R23t

(d FA 1,782

T S st
ey —

T.Let 4 be a non-singular matrix
; and
B=adjd. Which of the following
statements is/are correct ?

1. AB = BA
2. AB is a scalar matrix
3. AB can be.a null matrix

Select the correct answer using - the
code given below :

(a) 1 only

(b) 1 and 2 only
(¢) 2 only

(d 1,2 and 3

8. Consider the following statements in

respect of' square matrices 4 and B of .

same order :

1. If AB is a null matrix, then at least
one of 4 and B is a null matrix.

‘ 2. If AB is an identity matrix, then
_ BA=AB.

Which of the above statements ‘is/are
correct ?

(@) 1 only.
(b) 2 only
(©) Both 1 and 2
(d) Neither 1 nor 2
9, If A4 is the identity matrix of order 3
" and B is its transpose, then what is the
value of the determinant of the matrix
C=A+B?
@ 1
() 2
@© 4
@ 8

10. Let A and B be non-singular matrices
of the same order such that 4B =4 mca
BA=B. Which of the following
statements is/are correct 7

1. A2=4
2. AB?=42B

Select the correct answer using the
code given below :

(@) 1 only

(b) 2 only -

() Both 1 and 2
(d) ‘Neither 1 nor 2

11. How many terms -are there in the
h 2\’ (5 E2)E ‘
expansion of ?+Mv ﬁHlMu ?

@@ 9
() 10
(© 19
(@ 20
12. Consider the following statements in
respect of the expansion of (x + e

1. Among all the coefficients of the
terms, the coefficient of the 6th
term has the highest value

2. The coefficient of the 3rd term is
equal to coefficient of the 9th term

Which of the above statements is/are
correct ?

(a) 1 only

(®) 2 only

() Both 1and 2
(d) Neither 1 nor 2

A — SDFR-S-HTM




AN
A by
13. 3R c@3m, 20)=C@n, 21-7) R, @ : m 13. If COn, 20)=COn, 2n-7), ¢
Cln, n—5) % o H R? & @ 72 w is the value of C(n, n-5)7 on what (a) 72
’ b) 36 |
() 36 i @) 42 (b) 36
(a) 42 (c) 18
@ 12 A (b) 35 .
®) 35 w (@ 12
(c) 28 17.9m g a z#. B ﬁmﬁs | (c) 28 >
.—.~+.§~.+Qﬂowﬁ Y .w | .ﬂw a® i @ 21 .ﬁ%« gh_n B be the roots wm. EM
(d) 21 2y et n=0 % \ : ion xX2+4px+g=0. If a’ an
d) B3, whieRor x2+my+n 0% 7§ B are the roots of the equation
A+ nE W TR ? ; : 2+ mr+n=0, then what is the value
14. C(51, 21) - C(51, 22) + C(51, 23) — s s 14. What is'the value of of m+n?
C(51,24) + C(51, 25) - C(51, 26) + @ pitatprg N CGL2D-C(51,22) + C(51,23) -
C(51,27) - C(51, 28) + C(51, 29) — ®) pPP+ad-pa : mm“.WWW+MMM.WWWIQS.NS+ @ PP+ +pg
(i | ’ =" ’ + QAM-NW -
C(51,30) FT 99 T § ? © P+ai+3pg C(51,30) 7 ) @ P+ —pg
@@ C(51,25) @) p*+q>-3pg . @ CG51,25 , (© hu+nu+uﬁa
, @ .uu+nulu.u%
(®) C(51,27) 18. W T o 3R B, GHIERT m (b) C(51,27)
Hulnxlvx+nwlnuoWﬂ9ﬂqw_ ! 18. Let @ and B be the roots of the equa-
QRN 7g F-ar o wfe & e g : (©) C(51,51)- C(51,0) fon x*—ax.fxtob = =0 jWhat 1s
) ] e quadratic equation whose roots are
. (@ P*-ax-pPx+af+c=0 \ @ P-ax-—px+af+c=0
15. u.oo.@.q# 400 % i H, ﬂ%@ﬂ% foem ) P—ax—pPr+aB—-c=0 o ; 15. How many odd numbers between 300 2 X
T § e g st s NEREN] ] ; R and 400 are there in which none of the ®) Inh.luk+ aB-c=0
=8 ST Q@ ? (© P+ax+px+ap+c=0 b { digits is repeated ? (© 2+ax+px+aBf+c=0
d) 2+ax+px+af-c=0 , :
(a) 32 C «P« P tieg (@ 32 d P*+ax+px+aBf—-c=0
® .36 A 19. 3fg wHiE=w 2 W () 36 19. If the roots of the equation
. lehhl@klna+vm+guowg..m/ﬂ : w . P—ax-bx—cx+bc+ca=0
@© 40 TR 8, dr frafafea # @ Sa-ar e | (c) 40 ‘ are equal, then which one of the
. TR e following is correct ?
d) 45 :
Gy @ a+b+c=0 B ; @adbres 0
®) a-b+c=0

16. How many permutations are there of )
the letters of the word ‘TIGER’ in © a+b-c=0
which the vowels should not occupy
the even positions ?

16. 9% “TIGER’ & wsi & W foery ) a-b+c=0

=g § o &R a0 @ | T © a+b-c=0

@7 @ ~a+b+e=0 @ -a+bte=0

'SDFR-S-HTM - A 6 2 7 A — SDFR-S-HTM




20, wt B a T A (a> ), s
2oBr4g=0F@ &1
aft a?- p2=16, TN ¢ | 7= ¥

R?

(@ =15
() -10
() 10
) 15

21. n &1 9% Siteaw wW M= e, s
fora (301 +351), 57 @ =3 @, WEi A

TF gAY T @ 7

@@ 4

®) 6

(© 7

@ 8
22.2(2x1)+3(3x2x1)+4(4x3x2x1)+

S(SXAX3X2XL) F oo s 4

9(9%x8xTx6x5%x4x3x2x1)+2 HHAM
;TR ?

@ 11!
®) 10!
© 10+10!
d 11410!
2330 4={{1,2,3) ®, W 4 F W@

= (YR qe) d fFaq s@ma
< 7 :

SDFR-S-HTM - A : 8

(n) 1
b) 2
(c) 4
(d 8
24, 7f o b, c o Avh (GP) A B, el
oS0 b0 c>08, @ foafafea i
S 1
1. a2, b2, 2 Ao Ao (GP) H #

1

a5 e
3. Va, Vb, Ve TuirR AV (GP) F §
3 Ry T T W@ W TG ITN
g .

(a) 99 1 3R 2

(b) Fa=2 3R 3

(c) Faa 13K 3

(d) 1,23R3

3 iR Aft (GP) A &

Nm.um n.w.é. @_ wmfln.maﬂm w%a%v

# €, @ frafafea # @ SF-@1 W@
g7

(@) a, b, c GARK AVt (AP) # &
(b) a, b, ¢ TR ARt (GP) A &

(c) a+b, b+c, c+a mnqmﬂ.a Sroft
(GP) ¥ € .

(d) a+b,b+c,c+aTHR A0 (AP)
g g

Kl

]

_

20. Let o and B (2> f) be the ranty
of the equation 2 Re + q =0 1f
al — p? = 16, then what is the values
of g?

(a) ~15
(b)y ~10
(¢) 10

d) 15

21. What is the maximum value of 7 such
™ that 5" divides (30! + 351), where 7 is a
natural number ?
(@ 4
® 6
(c) 7

d 8

22. What is the value of
2(2x1)+3(3x2x1)+4(4x3x2x1)+
S(5x4x3x2x1)+ (... i .. +
9(9x8xTx6x5x4x3x2x1)+2 ?
(@ 11
(b) 10!

(c) 10+10!

@ 11+10!
23.If A={{1, 2, 3}}, then how many

elements are there in the power set
of 4?

fa} 1
(b) 2
(c) 4

dy 8

. 1fa,b,care in GP wherz a > 0, b> 0,
€>0, then which of the following
are correct ?

L th @N- ﬂnad m GP
1
2ot launor

3. ..\Mv)swv)\mﬂamnﬂm

Select the comrect answer using the
code given below :

() 1and2 only
(®) 2 and 3 only
(&) 1and3 only
@ 1,22md3

25.1 8tb ; B+c are in HP,
/ N > ¥ N
then which one of the following is
correct ?
(@) a, b, c are in AP
(d) a, b, c are in GP
() atb,b+c, c+a are in GP

(d a+b,b+c, c+a are in AP

9 : A — SDFR-S-HTM



| +5in20 ®, &t Lo 26. What is value of cot?15° + tan2{ 50 9 Nw it 05 = 1 ain2b iunno,
. ] . s ;

26. cot?15° + tan?15° & A FT { ? 29. f tan(45°+0) = e |
(@ 12 IWAQAN@. 2, ot cos20 = HH 1 ; (@ 12 lwAmAW , then what is the value of
®) 14 ?7 . (b) 14 c0s20 ?

i
@ 0 i (@ 0
©) 83 @“ () 83
1 : .
@ 4 ® 3 @ 4 ® 3
27. @& Wwﬂ ABCH, © 1 : -4 27. In a triangle ABC, © 1
. sind —cosB—cosC=0 % | @ 2 : : y..,, sind —cosB —cosC=0. .
o B fFas s=R ® ? , (ot What is angle B equal to ? (@32
30. W R sin20=cos36, &l 6 Th e : .
n ﬂﬁ_mw.ﬂ : ol 1 T 0. Let sin20=cos36, where O is acute
e s g iRk S | @ 6 ﬂ angle. What is the value of 1 +4sin6? .
? . .
. y : V5-1
n 5-1 Rt T AmES that sin18° =
® = (e fom & o sintso = 3 ® Z 4
| , @ 3
© .MM @@ 3 . o (0 u|uﬂ.. A o e :
®) 2 : Y =
z z o
@ 3 © 5 @5 © 5
@ 3 @ 3

Nm.ﬂm_.a+uumwwﬂmgau~.w~ . 28. H».Q+uum and 2tana = 1, then what . .
; , 3. If gmulh then.what can be the

A tan2p e TR B 7 31. 9% tan6 =-2 2, A sing T A T is tan2 equal to ? | v
. V * value of sinf?

& T R ? .
1 1
ol 5 5 @3 (@) = but cannot be —=x
@ 73 B -5 & & | | 13 ™ 13
2 i ¢ 2 '
® 3 5 5 1 3 ® ~3 but cannot be =
® -73, 759 5 7 & v B =
3 3
© 3 K ! © % 5 5
_ © W ST JW S5 . | ©) 3013
3 5 ‘
(d = @ j £ e (d) W . (d) None of the above
11 . A — SDFR-S-HTM
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32. no%.qw|a+nomaumh T AF T R ?

@ 3

®)

Hlw

oolw

©

@ =

33. maAmi&lmBAméu
forad R B ?
(a) sin20
(b) cos26
(c) 2sinf
(d) 2cosf

34. TF FER TR T &fwr a9ad |
T R IR F FW p A= H G
£1CUE HEATER TSl © | Twae & forelt
fog | oo F q@ ok W &

I R FAT: O 3R 20 B | TR
6 I=S TR ?

(a) hcosO
(b) hsind
(c) hcos26
(d) hsin20

SDFR-S-HTM - A

12

@ 60° < 6<90°

36. afk El,@+§l._m.&nm &,
0<x<6%, A x fFEd TR ¥
(@@ 1
®) 2
) 3
@ 5

37. afe 3sinlx + coslx =7 ®, A x TFwa
TR § ?

(@ 0

[ ST

(b)

=

©

(d)

-

/u. . What is the value of

L

nOmA NNM + oOm& Mwh ?

8 8

@

[\S][%)

EN[H)

(®)

oolw

©

@ =

33. What is mgnhmiwv |mi~mm. - mw
/ equal to ?
(a) sin260
(b) cos26
(c) 2sinf

(d) 2cosf

34. A vertical tower stands on a horizontal
~ plane and is surmounted by a vertical
flagstaff of height A. At a point on the
plane the angles of elevation of the
bottom and top of the flagstaff are 6
and 20 respectively. What is the height
of the tower ?

(@) hcosb
(b) hsin®
(c) hcos26
(d) hsin26

13

36. If E-_Tu +§-_T.u _Z

35. The shadow of a tower becomes x

metre longer, when the angle of
elevation of sun changes from 60° to 6.

If the height of the tower is /3 x metre,
then which one of the following is
correct ? -
(@ 0<6<30°

(®) 30° <0< 45°

(©) 45° < 6 < 60°

(d 60° < 6 < 90°

h
2 )= % where

0 <x <6, then what is x equal to ?
@@ 1

® 2

@ 3

@ s

37. If 3sin~lx + cos 'x = , then what is x
equal to ?

@ 0

(®)

[SIE

si-

©

@

S

A - SDFR-S-HTM



38. 9% tana + tanf = 1 — tana.tanB R, gt
tana.tanfB#1 ®, @ feafafe 3 q

FH-FT (a+p) & 7H | A & "1w

?7?

(@

= E]

INH

®

©

w|y

@ 7
39.3f% (1+tan@)(1 +tan99)=2 %,
tan(106) & AT FT § ?
@ 0
®) 1
() 2

d s=a

40. sin0° + sin10° + sin20° + sin30° + ...

$in360° 1 AW FT § ?
@ -1

® 0

© 1

@ 2

SDFR-S-HTM - A

@«

14

a=q, 2 B4 % wh
41, T frare AR I

frey g (4] % ST E T

(@ 0
®) 7
() 8
@ 9
; & qey 3
2.9 s Tt 4 B
remfaire ot @ Fr A0

1. x(AUB) = x¢4 3rgdl xgB
2. xg(ANB) = xed AR xeB
Sges § R/ FA-a1 /3-8 T W@
R/%?
() Fad 1
(b) ¥ 2
(© 1323
@ TA 1,982
43. 3 st el 4 3R B % Waw §
Prafafes w1 © far A
1. AUB=4NB afe 3R <Hae o
A=B A
2. AMB= o 3R e AR A=B
sode # & A/ A T @
?/% 7
(@ a1
(b) e 2
(c) 13R23Et
(@ TAL,TR2

|

i ahiiitn

Slamne

38.

R

39.

3

40.

If tana+tanf=1—tana.tanf, where
tanatanfi# 1, then which of e
following is one of the values of

(at+P)?

@ %

ENET

(b

©

wiy

@ 5

If (1 + tan6)(1 + tan96) = 2, then what
is the value of tan(108) ?

(@@ 0

® 1

(© 2

(d) Infinite

‘What is the value of

sin0° + sin10° + sin20° + sin30° + ... +
sin360° ?

(@ -1

(®) 0

© 1

@ 2
15

41. Consider all the subsets of the set
A=1{1,2,3,4}. How many of them are
supersets of the set {4} ?

(@ 6
(®) 7
(© 8
@ 9

42. Consider the following statements in
respect of two non-empty sets 4 and B :

1. x¢(4UB) = x24 or x¢B
2. x2(ANB) = x2A4 and x¢B

Which of the above statements is/are
correct ?

@ 1 only
() 2 only

A\nv Both 1 and 2
(d) Neither 1 nor 2

43. Consider the following statements in
respect of two non-empty sets 4 and B :

1. AUB=ANB iff A=B
2. AAB=piff A=B

Which of the above statements  is/are
correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

A'— SDFR-S-HTM



44. 7R 2_5xp+42=0 ® T xRy T
R ewqf §e ¥ TEE N #
wog g ¥ ar A Pl st w
Eﬂ.ﬂmﬁwﬁ"

1. REgH
2. REfE 2
3. R €S ©

Igdes § / F-T1/F-/ T w@A
?/% ?

(@ F¥a@1
(b) a2
(c) Fae 132
@ 1,23K3

45, {5t ==9 4 R foft s Gsg R &
forg frafafea sat W famw fife -
1. af¢ RETged §, AR 9 g ©

2. afe R gafia 8, o -1 W wwha
2

- 3.3 R w@FmE R, @ R W@

ST § ¥ FH-G1/F-4 FIT qE
g/8 7

L (@ %EE13R2
(b) Fad 2 3R 3
() = 13K 3
(@ 1,23K3

SDFR-S-HTM — A 16

1
® 5
() 1
48. Frfafas =@t | R fifsg .
1. 2, 6% fma 3, ein>38

2. wl__ihwmﬁﬂw,ﬂ%:vuw.

SIS RN

R/E?

(a) Fad 1

(b) & 2

() 13R235H!
(d TAM 1,982

44. Consider the following statements in
respect of the relation R in the set Iy
of natural numbers defined by xRy if
2—5xy +42=0:

1. R is reflexive
2. R is symmetric °

3. R is transitive

Which of the above statements is/are
correct ?

(@ 1 only
(b) 2 only
(c) 1 and 2 only

) 1,2and 3"

45. Consider the following statements in
respect of any relation R on a set 4 :

1. If R is reflexive, then R-! is also
reflexive

2. If R is symmetric, then R™! is also
symmetric

3. If R is transitive, then R! is also
" transitive

Which of the above statements are
correct ?

() 1 and 2 only
() 2and 3 on_w
(¢) 1 and 3 only

. () 1,2and3

17

46. What is the principal argument of ﬂﬂl_
where i=+/—1 7

@ -&
® -
© %

@ &z

47. What is the modulus of

E

@

INT

-®
©
@ 22

48. Consider the following statements :

- va—‘

] p
B i W is divisible by 6, where n >3

N. ml“+u w&&&EaSﬁszmﬂo

n>3. | .
Which of the above statements. is/are
correct ?

(@) 1 only

(b) 2 only

(c) Both 1 and 2
@ Neither 1 nor 2

A — SDFR-S-HTM
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49, 9 et 7 ¥ 5 Ryenfyat 6t ww &
fra adet & T o wadt @ @ifs @
iy Ryefedl & &9 & IR @1 W

wEH ?
(@) 14
® 21
© 35
(@ 42

0. TJ&? ¥ WaR §, @ w @

+1)T © TR (9 T x F
I ural § Hafem ) ?

(a) C(n, n)x
(b) C@n, n—1)x
(©) C@n,n)
d) C@2n, n-1)

51. afe frdft @A Aot (AP) & waw 9
Gl H ANTHA, EF WA 11 9§ H

INTHA & TR @, ol 39 W9 20
Gi T AFThST T © ?

(@ 20
@ 10
© 2
@ o

SDFR-S-HTM - A 18

o2 feht i o (AP) T ST g

ww%ﬁﬂ_%ﬁm@%aﬁ
50 wat @ e € 7
(@ 25
®) 255 |
© 26
@ 265

53. (1110011), + (10111), T o
?7?
(@ (101);
() (1001),

- (e (111}

(@ (1011),

54, Af x3+y3 = (100010111), 3R x+y = .
amiy, § @ @-yP+xy s

TR B ?
(3 (1101),
(b) (1001),
(c) (o11),

(@ (111),

49. In how many ways can a team of §
playcrs be selected out of 9 players so
as to exclude two particular players ?

(a) 14

®) 21
© 35

@ 42

2n
50. In the expansion of AN+WV ., what is

~ the (n + 1)th term from the end (when
nn&bmma in nﬁog&bm powers of x) ?
@ Cenmx ,
) C2n, n- Ix
" () C2n,m)

(d C(2n, n— d

51. If the sum of the first 9 terms of an AP
is equal to sum of the first 11 terms,
then what is the sum of the first 20
terms ?

(@ 20
(®) 10
© 2

@ 0
19

52.1f the 5 term of an AP is % and its

10 term is W. then what is the sum of
first 50 terms ?

(@) 25
) 255
(© 26

d) 265

53. What is (1110011), = (10111), equal
to?

@ (101),
®) (1001),
© @11y

(d) (@o11),

54, If x3+y3=(100010111), and x+y =
. (11111);, then what is (x—y)*+xy

equal to ?
(@ (1101),
(®) (1001),
(c) (1011),

(d) (1111),
A — SDFR-S-HTM



55. srafirenTeit
5x-4y+12<0,x+y<2, x<0 3K
y>0R R i | feafafe § 3
F-ar fog wdfe &3 § @ 2

(@ (0,0)
®) 2,4
© 1,49
@ L2
56. %9 y=[x], xe(-1,1) ¥ way I

frafafea Faat R f=r A, =t
[.] FE9H QUiid %ol ©

1. x=0-5 R Tq&H IaFHl 0 &
2. 98 x=0-5 R ¥ad ©
IEE { F H-G1/F-T F9T 9
g/€ 7
(a) Had 1
() Faa2
(©) 13R2q=k
d) TA1,782
. ) 5 w
57. ST wHER _%@w nﬁtw
dx dx?
@ 3
() 2
() 3
(d) 4
SDFR-S-HTM - A 20

B R
o Xl e & ,
™ e v < e T R

2 aft s e 100 a8t ¥ &

® 700

@ Too

59. 6 f(x)=+1-(x—1> F wid FT
g7
(@ (,1)
®) [-1,1]
© (0,2
(@ [0, 2]
60. a2 =4kx IR & e
(Jew [ew) TR uReg 8 &1 &

24 o S B, W&l k> 0% | kST WA
R ?

(@ 1
) 2
© 3
@ 4

PSS

55, Consider the inequations
sx—4y+12<0,X+y<2,x<0 and
y>0. Which one of the following

~\_points lics in the common regjon ?

(@ (0,0
() 24
AOV Almw #V
A& AIT Nv
56. Consider the following statements

in respect of the function y=[,
xe(=1, 1) Where [.] is the greatest

integer function :
1. Its derivative is 0 at x=0-5
2. It is continuous at x=0

Which of the above statements is/are
correct ?

(a) 1 only

() 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

57. What is the degree of the differential

N ] .
,.nncmmonrﬁmw uﬁwm\.y 9
@ %
®) 2
‘ © 3
d 4

21

8. A radioactive substance decays at 2
fate proportional to the amount Of
Substance present. If half of the
Substance decays in 100 years, then
what is the decay constant (propor-
tionality constant) ?

[N

I

A&v In

—
o
o

By
o}

|

®)

—
(=
o

N
=
)

©

|

—
(=3
=]

Y
5
N

|

L@ %

[=3
o

59. What is the domain of the function
F@=A1-(-17 2
@ (©1)
() [1, 1]
© 2
@ [0, 2]

60. The area of the region bounded by
the parabola y? = 4kx, where k> 0 and

/_.a latus rectum is 24 square units.
What is the value of &k ?

@ 1
() 2
© 3
@ 4
A — SDFR-S-HTM




6L [f— oo
' ‘ﬁo (sinx +cosx)? SR R 7

@ -1

(S

®)

@ 1

Njw

@

62. :mguvuSAooma g fray W
R?

(@ +tanx+c
(b) 2vJtanx+c

(c) +cotx+c

(d) +2tanx+c

63. 7R N_n._.nmkh m#mu._. dx

ef+e* & +1

%, WL+ L Tras SR g 7

(@) W+n

®) x+c
(©) In(e*+e ) +c
@ et -eN e

SDFR-S-HTM— A

22

64 [ X ay forrs waR 7

=2 x|
(a) -2
® -1
() 1
@ 2

65. sindx+ 2x % R =womwE R/8, e
0<x< Num 27
@ 1

- M 2

(c) 4
@ 8

1 o1 st

tanx +cotx
- 14
I 1§, el oAuAMw ?

66. % f(x)=

@

INS

(b)

© _
@ 2

67. 3%
@1 (3)=(2e+1)(2x-1) 8,
A £(2) foras s ® 7
(@ 0
() 1
() 2
@ 4

=N

g dx
a_.irm:m .-‘e Amix.voomavn SE_S.N

(@ -3

®

=

© 1

N|w

@

vus ~3/2

62. What is [ (sinx
to?

(a) +tanx+c
(b) 2+tanx+c

(cosx

(¢) eotx+c

(@ 2tanx+c

_[_e'dx dx
e o Pt

then whatis I; + I, equalto ?

@ w:

() x+c
) In(e*+eX)+c

(d) In(e*—e™)+c

dx equal

23

84 What bru_ mﬁxl_ku nnnu:o.w

(@ -2
®) -1 :
(© 1 .
@ 2 \

am.moegnuudﬂn values does
~> Sidx+ 2z where oANAWM have ?

@@ 1
® 2
) 4
@ 8

66. What is the maximum value of the

Bonlon (% e poory T

OAHAWM

@

N1

®

() 1 _ i :
@ 2 U

N|—

67.1 L2
N 4r@-r(L)=(20+ 1) (2- 1),
then what is f(2) equal to ?

@ 0

®) 1

() 2

@ 4

A — SDFR-S-HTM



68. If f(x) =4x+3, then what is fofof (-1)

68. Al f(x) = 4x+ 3, fofor(_ ) : =
mdmao.ww x+3 8,7 fofof 1) frass 7. aR mumucaue..ﬂﬂ y(0) = In5 L] N equal to? 7. 15 mma::&& with 3(0)= InS, then
(1) fores T & P @ -1 what is y(1) equal to ?
(@ -1 ) G5
®) 0 (@ 0 ) 0 /e
© 1 ®) > © 1 ) 5
) (©) 2InS @ 2 (©) 2ms
@ 2 (d) SinS _ () sins
5= 10¢ % e § Frefeif If x?y* =1, then what is ¥ at (1, 1 73. Consider the following in respect of
69.7R Y =12, @ (1 dy 73. %1 f(x) = 10" 69. y ’ = , 1) _the following in respe
NMQ DR 2 e R far BT : : cqial 107 EMEBS\Eu_?”
WK e ? o | - Its domain is (—eo, )
@ 1. umﬁswA w, ) ¥ _ | @ -1 i
: 2. 9% & §ad 6o © ‘ I ® 0 i & . -
®.9 3. 9% x =0 3EFFeA € - It is differentiable at x=0
@1 e : (© 1 Which of the above statements are
IR A A AA-A T AR E ? -y Corree?
(D4 : (a) Faa13tk2 : 3 (@ 1and 2 only
) Faw23R3 : 70. If y = (x*)*, then what is the value of (®) 2 and 3 cnly
= x = d .
70. 3R y=(x*?, T x 1w 2 a1 7w © S 13 : ot @51 a3 Sy
i @ 1,23R3 . @120 3
g 1
@ 1 ; @ 3 : 74. What is lim 2
. 74, Mﬁr x3 (cosec x)? feraeh SR ® ? : oL uloau AnOmnoHv.N cquatto
U @ 0 . Ol NG AR
© 2 H _ b ©) 2 ‘ gl
@ 4 ®) 2 o @ 4 2
. © 1 ] : © 1
71. A S y =[x + 1], -4 < x <-3, ST&i (@ d T st T R : ; 71. E& y=[x+1], -4<x M_M .sunﬂww_ (d) Limit does not exist
HgaH =_3. ! 3 is the greatest integer function. t
wmm o quIiE FeF § | x=—3-5®R x , W ~is the derivative of y with respect to x )
T S S 75. :a)wlu__*wmwﬂmﬁww : at x=-3-52 75. What is __.E—u\Lﬂ equal to ?
Aﬂv —4 x-14/x — . : \ ] ) x> X -
AS 3.5 . (@ o , : : : (a) -4 @ 0
; ®) 3 i (®) -3-5 ® 3
(c) 3 © 6 & - o © -3 © 6
@9 (d) € = afer @ ® i @ 0 : (d) Limit does not exist

SDFR-S-HTM - A : 24 o ;- : 25 A — SDFR-S-HTM



76. Eﬂ?@m #F w e st s J—
.\.Qvulll.'.+9+mw,_§w ?

(@) R (-eo, 1)
®) (1,6)

() ¥ (6, )

@ (-, 1)U (6, )

7.9 x=2 W TS (x) =24 2nx+1

N FEH [ T, mwaiwamauﬂ
TR ?

(@ -2
® 0
©) 2

(d) I T (I2T) F FRw Fraffa
m%gﬂﬁmaq

78.9% y=x mwﬂu\nkuwm%ﬂ.m, e
wqaty § wRiE &5 w5 S T
g2

@) 5 T =
®) 4 o

© wimﬂw

@ 1=

SDFR-S-HTM ~ A 26

79. 7R u_nsa g, sl x Myt

o €, @ a+y T EE A

2

(@ 130

) 260

() 2113

(@ 4226
mc.mﬂwﬂsamuuwnoﬂ%ammﬁ@

??

(a) & & @-F

() T 939

(c) TF qEea-g

(@) T <HgT-F

81.afe s (-5, 0), (5p% 83 3R
(5¢2, 10g) 9 foig WX &, T pg &1
A TR, el prg B 7
(a) -2
(b) L.
© 1.
@ 2

82. 99 W @ F Wwiawwr F;1 25 fog
(1, -2) ¥ ToRdt § oK ol W wTR
@S A 8 ?
(@ x+y-1=0 ,
b) x—y-1=0
(© x+y+1=0
(d x-y-2=0

D

76. In which one of the following intervalg
pr:
7x2

is the function f (x) = I.IINI +6x+5
decreasing ?

(a) (-, 1) only

() ,06)

(©) (6, ) only

AQV Aloou mv U Am. Sv

77. If the derivative of the function
f(x)= hh..+~§+~ vanishes at x=2,
then what is the value of m +8n ?

(a -2
®) 0
© 2

(d) Cannot be determined due to
insufficient data

78. What is the area included in the first
~~  quadrant between the curves y =x and

y=x37

(a) w square unit

) W square unit

(©) W mnc.wno unit

(d) 1 square unit

27

7.

80.

8

(=%

82.

Il xy=4225 where x, y are natural
Mumbers, then what is the minimum
Value of x + y?

@ 130
(b) 260
(© 2113
(9 4226

What does the equation NMNN -2y=0
Tepresent ?

(@) A family of straight lines

(®) A family of circles

(9) A family of parabolas

(d) A family of ellipses

- If the points with coordinates (-5, 0),

(577 10p) and (542, 10q) are collinear,
then what is the value of pg where
P#q?

(@ -2

®) -1

© 1

@ 2

What is the equation of the straight line
which passes through the point (1, —2)

wb&nEmom.ne._& E»ﬂon?m mBBEo
axes? - \

(@ x+y—-1=0
® x-y-1=0
(© x+y+1=0
d) x—y-2=0

A — SDFR-S-HTM
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g3. What is the equation of the circle

¢ & ot
fopt 4B Hom 86. Let a, b, ¢ be the lengths of sides BC,

§3.36 I H WHISW . :
ﬂmz.?mﬂu.um it 30 ey R = Ry 86. W T E_.%%. sl T 4, b - which touchcs coE the axes in the firgt C ;
i yY=2=ox BC, CA AR AB NS quadrant and the line y~2=09 / 4,48 respectively of a triangle ABC.
Y T © 7 %Anw_uﬂﬁmﬁgﬂmﬂn H\qugnuﬂlaﬁn—‘unaﬁmm&nwﬁg
Of the triangle, then what is
e 8, W @ F+y-2-2y-1=0 /
a) H~+\<NIN~.IN.<I~H g ? pP(p-24 B.:ﬁhv to ?
(¢ 0 u@-?iﬁ?&%ﬁﬂ» )tan (£ ) equal
(b) 2+ +2x+2p+1=9¢ & q (b) 2+y+2x+2+1=0 . @ ¢
© 2+P-2x-2p+1=0 ® 24 © P+ -2x-2+1=0 ® 29
(©) 3¢
3
@ 2+ -dx-4p+a=g bl @ X+ —dx-dy+4=0
@ 49 @ 44
» B 8 84. What is the equation of the para- : L
84. 71 (-3, 0) IR FEar x—3-¢ o §7. 7% @ Y@ x+2y+2=0 M " bola with focus (3, 0) and diretirin 87. A straight line passes through the
nﬁﬂnﬂm«wﬂmﬂﬂqw.w leu!lwﬂowﬂn@dwd.@uwwwﬂﬁw x—3=0? point of intersection of x+2y+2=0
2| 75 9% wgal #§ W FTTR : < Hmwwﬂmwnmwnﬂuéawunm:&a”
J g - : e fourth qua Wha
@ y*=3x A ® | saEvEt % At w (@ y*=3x the sum of the absolute values of the
qTRT TR ? intercepts ?
) x2=12y ) , ="
(@ 2 ®) »NIBV. @@ 2
2=
© y' =12 ® 3 (©) y*=12x ®) 3
2 _ © 4 _ : 4
) y ~.Nx @ y*=-12¢ ©
@ 6 @ 6
85. Qrefgw 2+22=1H afigt & g ) : 85. What i : A
_— ’ . it is the distance between the fi -
HghFnd? 88. form witeell & srefir X@Q of the ellipse x2 +2)2 =1 2 Rt > 88. Under which one of "the following
/ conditions are the lines ax +by+c=0

128

ax+by +c=03Rbx+ay+c=0

and bx + ay + ¢ = 0 parallel (a # O,

@ 1 AR (a20,520) &7 @ 1 b=0)?
© (@) ¥ a—b=0 e (® a-b=0 only
o (b) T a+b=0 (®) a+b=0 only
- (€) a®?-b2=0 | @ 2 ©) a*?-b?=0
@ 242 d ab+1=0 ~ @ 242 (@ ab+1=0
SDFR-S-HTM — A | 29 g >|,mu—u.w..m._n.wz_- i




ﬂﬂmwﬂ&.«%uﬂmm%mwﬁﬁ
Mzzmmmu_ Ll W- Aﬂd.w ﬁ.ﬂﬂu Nd%ﬂm

we 8) ?

(@ x-y=0
() x+y=0
() x-y=p

d x+ty=p

90. 7R 3 (x, ») 73 (24, 0) 3k (0, 3q)
WA PR, Tl a>08 A

fraffa A T S ¢ 2

(@ 2x-3y=0

() 3x-2y=0

(c) 4x—6y+5a=0

(d) 4x—-6y—5a=0
I dm (03) vE % T feafafae w
.Em:ﬂ%ﬁﬂn"
A 6x+ky+3z—12=0, 5@ k=0 B,
fiyries arell @ AN A, B 3R C &R Frear
R | 7Efig 3R 4, B, C ¥ TPRA 9@ W
T 2242 +22-2x—3y—4z=0% |

L kAN TR ?

(a) 3

() 4

) 6

@ 12

SDFR-S-HTM - A

30

.@ﬁdﬂﬂﬂﬂﬂﬂﬂ.ﬂw
S.Mm%wﬂwwﬂmwmﬁéﬁ%w ?

@ o,A.aAo.m

® 05<p<l

© 1<p<15 i
@ p>15

sfig o A ¥ I A TRA Awh
B.mﬁﬂm&ﬂsﬁqhw ?

(@ x=y=z

() 2x=3y=42

() 6x=3y=4z

(d) 6x=4y=3z
T 2@ (02) v & forg Frafafes w fewr
m.J.WE"
k1o ﬂw@ﬂ. qHddA N\W.TWWN.TW"N. .pw
2,3,-6) 8 ToRAT ® I, :
94, Trae W Tt afics & fig-smuma

g ?

@ <3,2, 1>
®) <2,3, 6>
© <6,3,2>

@ <1, 2, 3>

4

89. What is the equation of the locus of the

N\ mid-point of the line segment obtained

by cutting the line x+y=p, (where p

is a real number) by the coordinate
axes ?

(@ x-y=0
®) x+y=0
© x-y=p
@ x+y=p

N 90. If the point (x, y) is equidistant from

the points (2@, 0) and (0, 3a) where
a > 0, then which one of the following
is correct ?
(@) 2x-3y=0
®) 3x-2y=0
(©) 4x-6y+5a=0
d 4x—-6y—5a=0
Consider the following for the next three

(03) items that follow :
The plane 6x+ky +3z—12=0 where k#0

meets the coordinate axes at 4, B and C
respectively. The equation of the sphere
Ppassing through the origin and 4, B, C is
X2+ +2_2x—3y_4z=0.
91. What is the value of k?
(@ 3
() 4
) 6
@ 12

31

P2.16p is the perpendicular distance from
the centre of the sphere to the plane,
then which one of the following is
Correct 7
va 0< P<05
®) 05<p<q
AOV 1< p<l1s

d p>15

93. What is the equation of the line
through the origin and the centre of the
sphere ?

@ x=y=z

() 2x=3y=4;

() 6x=3y=4;
S (@) 6x=4y=3;

Consider the following for the next fwo (02)
items that follow :

Let the plane W+Wuk+wum pass through

the point (2, 3, -6).

94. What are the direction ratios of a
normal to the plane ? ,

(@ <3,2, 1>
®) <2,3,6>
©) <6,3,2>

@ <1,2,3>

A — SDFR-S-HTM



95. 7R W WW TN AERIH anit w
ST Y FATE T p, g 3%, €,
RA(p+g+n)TFaF w=w R »

(@) 10
® 1
© 12
@ 13

96. a2 4 +j -3k 3R pi +gf —2f wdg
sy & @ p IR ¢ F dwew ww
AN TR ?

@ 41
®) 1,4

© w

~~
o,
=
Wi wloo
w|oo

-

97. afe freht s ABCS st 4, B3tk C
¥ farfy sy ¥ @, b sk ¢ %,
iR G B =1 F=w B, D 4G
frad TR § ?

Am.v .Mv+ NIT Mav

3

® mmﬁwﬁw

© N+|nvu..~m,

@ mﬁwmlww

SDFR-S-HTM - A

HEATE ©

2. Wiy o, wf T W
HEATHS ®

3. it @ WRW AT R
a ®

S ¥ FA-A/FA-R T w@
/27
(@) ¥« 1
®) Fa92
(c) Fae 132
@ 1,233 _
99. 7 Wi 3, b ¥R ¢ I YR

TRy @R E M axb=2 % 1 3=
et = w fer At :

Lafk B sk R m E a0 7
sifeeha 2

2.af 2 sk B Rmmm E & 2
afed © ‘ ,

IEH F A FA-G1/FA-R T T
j/€ 7

(2 =91

(b) Fae 2

(©) 13R2<=t
@ A1, TE2

4

N

95, If p, q and r are the intercepts made
by the planc on the coordinate axeg
respectively, then what is (p+q+r)
cqual to ?

(@ 10
®) 11
©) 12
(@ 13

96.1f 4i+j-3k and pi+gj-2F are
collinear vectors, then what are the

possible values of p and ¢ respec-
tively ?

@ 4,1
® 1,4

©

s

@

>

w|N w|oo
wjoo  Ww|N

5 ;
97. If mn b, T are the position vectors of
the vertices 4, B, C respectively of a
triangle 4BC and G is the centroid of

—_—

the triangle, then what is 4G equal
to ? ]

2 o
atb+c
@ 3

-2 o

2a-b-2¢
®) 3.

= o -
© anuINa

> 7 A

a—-2b-2c¢
@ 423

33

98, y
B Consider the following statements :

: L ﬂoﬂ product over vector addition
18 distributive

< Cross product over vector addition
13 distributive
3. Cross product of vectors is asso-

ciative

Which of the above statements is/are

~ Correct ? :

99.

(@ 1 only
(®) 2 only
() 1and?2 only

(d 1,2and3

=
Let @, b, @ be three non-zero vectors
-
such that @x = ¢. Consider the fol-
lowing statements :
- -
1.a is unique if b and  are given
- . 4 o> 3 4
2. c is unique if @ and b are given

<<.Eorcmgn%o‘\omﬁaaobﬁwm\w—d
correct ? :

(a) 1 only

(b) 2 only

(c) WOE 1 and 2
(d) Neither 1 nor 2

A — SDFR-S-HTM




100. 7 ST @ A B, A o whe
PN
R0 20 R, N PR
FH-|T L R ? ?

(a) ¥« 0<sinf<1
() ¥ |WA&=®AW

© ¥ad -1 <sinf <0
(d) -1<sinf<1

101.1,2,3,4, 5% q Q 3% aw5foos = &

T oW § o IR TR A ow
S | W S R vl €
ﬁ%ﬂﬁﬂ%&ﬂ 03y ?

@ 15

®

w—

©

(V1N TATN)

@

102. TF WA ¥ WH T9 (@) F IgET

g o (THagedhl wa gY) =
IR fwm ® | 9% A =1 s Freen
T EHAT R ?

(@ W= > e > agesw
(b) WA > FgEE > WiEAw
(c) wferH > wWeA > Wgew
(@) se7F > Wity > W

SDFR-S-HTM - A
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103, i e 3 4,5% @

o St 3 @ @ S 2,2
oo = R 7

(a 4
®) 5
© 7

@ 9

104. T TR Aot (AP)F S0 TG T FHR
e 54T SN REE Waw 98 4 3R W
I 4R ?

(@ 50
(®) 51
(c) 100

@ 102

105. 21, 34, 23, 39, 26, 37, 40, 20, 33,27 &

arer faem s (Fmer @ foan )
TR ?

(@ 011
) 022
(c) 033

d 044

100.

N

101.

102.

s -

Let @ and b be two unit vectors such
that [@-B]<2. I 20 is the angte
between @ and b, then which one of
the following is correct 7

(a) 0 <sin0 <1 only

®) IW <sin0 < IM. only

(c) -1 <sin@ < 0 only

d -1<sinf<1

Two digits out of 1, 2, 3, 4, 5 are
chosen at random and multiplied

together. What is the probability that

the last digit in the product appears
as 07

@ 15

®

|-

©)

w|N ‘

@

[TYEN

The frequency curve (assuming uni-
modal) corresponding to the data
obtained in an experiment is skewed to
the left. What conclusion can be drawn
from the curve ?

(a) Mean > Median > Mode

(b) Mean > Mode > Median

(c) Median > Mean > Mode

'(d) Mode > Median > Mean

103,

N

104.

105.

35

.H.rn Variance of five positive observa-
tions is 3.6, If four of the observations
are2,2,4, 5 then what is the remaining
Observation 7

(@ 4
®) s
(© 7

@ 9

What is the arithmetic mean of 50
terms of an AP with first term 4 and
common difference 4 ?

(@ 50
() 51
(c) 100

@ 102

‘What is the coefficient of mean devia-
tion of 21, 34, 23, 39, 26, 37, 40, 20,
33, 27 (taken from mean) ?

(a) 0-11
(b) 022
©) 033

() 044
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ﬁ@«wﬂ%&nﬂm%@ﬁ.@ﬂ?@dﬁ
fm Hfir

100 % & S T A F T W
X35 e Xp ¥ fmemt =1 el aw -20? 3k
02 % A I T EH WA ¥ wewm ¥
RygeEt = s 9 140 |
106. T =1 HIEA TR ?

(a) 91

®) 9%

) 98

(d) 99

107. 99 3 q 3 Y T AT F W=y ®
foreat w1 ST T T @ 7

(a) 0
(®) 10
() 20
@ 40
108.3f » 3 & 3% Y T AW F qge

% fo=art &1 5 9w 180 ®, @ y
H AN TR ?

(a) 80
() 85
) 9%
@ 95

SDFR-S-HTM - A

.y.N- )

o s (0 et ¥ f R
@) w AR o
thwmwﬁ%fw%iﬁ
3R

109, SR ¢ AT TR ?
@ 67
® 71
© 75

@ 79

110, WTHTE AR 1R ?
(@) 795
®) 79
() 785
@ 77
111, TS & 3% U R B A
R ?
(@) -1
®) 0
© 1

@ 2

36

~

Consider the following for the next three
(03) items that follow :

The algebraic sum of the deviations of 5
set of values x{, X3, x3, ... x, measured
from 100 is —20 and the algebraic sum of
the deviations of the same set of valueg
measured from 92 is 140. :

106. What is the mean of the values ?
(a) 91
() 96
(c) 98
@ 99
107. What is the algebraic sum of the
deviations of the same set of values
measured from 99 ?
@ o
®) 10
() 20

@ 40 -

108. If the algebraic sum of the deviations
of the same set of values measured
from y is 180, then what is the value
of y?

(a) 80
(®) 85
(c) 90

@ 95
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M.onmas. the following data for the next
"ee (03) items that follow :

;o.BE._G obtained by 51 students in a class

are in AP with its first term 4 and common
difference 3.

\

109. What is the mean of the marks ? -
@ 67
® 71
© 75

) 79

110. What is the median of the marks ?
(@ 795
® 7
© 785
@ 77

111. What is the sum of the deviations
measured from the median ?

(@ L..
®) 0
© 1
@ 2
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@ SR AT 3T W oI R
112. wAQ:vamwmmmﬂw ?
@
(®)
©

VA nw LN Y-

@
13. P(G|T) fres =R § 2
@
(b)
©
)

glwn A N N
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1n4. p(716) forry e & 7

(a)

|-

W=

®)

wiw

©

Blw

@

s v (03) FE % g frefilea <@
(Rer) w fmw fifg -

fiht el #, wd & ffl el ¥
Hifea o ot Tewd i wEE 334% ¥ 1

F Y oo w9 A 3 FIR 3@ @ R
difea € ?

80
@ 725

® 10

AOV .Bl

160
@ 729

. event that mn% applicant interviewed has

Consider the following data for the next

three (03) items that follow : 114, Wy, is lw._mv equal to 7
There arc 90 applicants for a job. Some of
them are graduates. Some of them have [egg

than three years experience. @@ 1
4
Number of | Number of
graduates non-graduates : ;
At least ®) 3
3 years 18 9
experience
Less than © 2
3 years 36 27 5 <
experience = 0
’ @ 3
Let G be the event that the first applicant 4

interviewed is a graduate and T be the —

at least 3 years experience. Consider the following data for the next
: T wE three (03) items that follow :

112. What is ﬁAQ n W.v equal to ? The incidence of suffering from a disease

, among workers in an industry has a chance

: 1
(a) 3 of 331%. )
o 2
S Gings 115. What is the probability that exactly
© 3 3 out of 6 workers suffer from a
5 disease ? :
@ % )
_ E 729
113. What is P(G|T) equal to?
10
(@ W ® 37
3
®)i7 © 12
R 243
© 7 T
160
(@ w @ I
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116. 0 = R F0 WS R B 6 sy
mwﬁwﬁmﬁiw&mmﬂ%@ ?

665
@) 729

®) 559
© 333
@ =9

117. T8 1@ & 0 Wi @ fs amaﬁ:m
A AT F SRR 39 Wt S
difsa e ?

728
@ 739

665
® 9

653
© 729

596
@ 9

SDFR-S-HTM - A

ot & R frafiRe

— L ()] .
| -.m..mnﬂmdﬂny?ﬂ.

5
__m.nﬁﬁﬂw :

(@ 25
®) 26
© 27
@ 28

119. g MAA FE ? _
@ 1 .
® 2
© 3
@ 4

120. af wAF T TRARAT T I G
ST, |t wex w4 Qe ?

(@) 25
(®) 50
() 75
(d 100

*

116. What is the probability that ne ore
out of 6 workers suffers from a

disease 7
@ S5
® =%
© %&
@ =5

117. What is the probability that at least
one out of 6 workers suffer from a
disease ?

728
() 729

665
- ®) =3

653
© 729

596
@ 729

consider the follgwing frequency distri-

bution for e next three (03) items that
follow :

Class 520 [ 2040 | 40-60 ] 60-80 | 80-100]
Frequency | 17 | pvq | 32 |p-32] 19 |

The total frequency is 120. The mean is 50.

. 118. What s the value of p?
(@) 25
®) 26
(© 27
(@ 28

119. What is the value of g ?
(@ 1
.(®) 2
() 3
@ 4
120. If the frequency of each class is

doubled, then what would be  the
mean ?

@@ 25
®) 50
© 75
(d) 100
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